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Ques 1. ANS (C) Solution:

Some terms related to cricket are:

Golden duck: When a batsman is out first ball.

Maiden: When a bowler delivers an entire over without
the batsman managing to score a run.

Yorker: A delivery that is intended to pitch directly
underneath a batsman's bat or on his toes.

Hook: A hook is a shot taken when the ball is pitched
outside the leg stump and the ball comes up to the
batsman at shoulder height.
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Ques 2. ANS (C) Solution:
In 1955 the government of India and the country's
central bank, the Reserve Bank of India (founded 1935),
assumed joint ownership of Imperial Bank of India, which
was renamed the State Bank of India. It was nationalized
under the State Bank of India Act, 1955.
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Ques 3. ANS (D) Solution:
Bharatiya Lok Dal was a political party in India. The BLD
or simply BL was formed at the end of 1974 through the
fusion of seven parties opposed to the rule of Indira
Gandhi, including the Swatantra Party, the Utkal
Congress, the Bharatiya Kranti Dal, and the Socialist
Party. The leader of the BLD was Chaudhary Charan
Singh.
In 1977, the BLD combined with the Jan Sangh and the
Indian National Congress to form the Janata Party. The
newly formed Janata Party contested the 1977 elections
on the BLD symbol and formed India's first government
not ruled by the Indian National Congress.
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Ques 4. ANS (A) Solution:

The central government will spend ' 10 trillion on longer
term capital expenditure in 2023/24, extending a
strategy adopted to revive growth in the aftermath of
the Covid crisis. The allocation is higher than the ' 7.5
trillion budgeted in the previous year and the highest on
record. The year-on-year increase of 33% is only
marginally lower than last year's 35% jump.

The ratio of capex-to-GDP, which rose to 2.7% in
2022/23, is estimated at 3.3% in the new financial year
The government will also continue a'1.3 trillion long-
term loan to states for longer term investments, the
minister said.

In 2023-24, the ministries with the highest allocations
account for 55% of the estimated total expenditure. Of
these, the Ministry of Defence has the highest allocation
in 2023-24, at Rs 5,93,538 crore. It accounts for 13.2% of
the total budgeted expenditure of the central
government. Other ministries with high allocation
include: (i) Road Transport and Highways (6% of total
expenditure), (ii) Railways (5.4%), and (iii) Consumer
Affairs, Food, and Public Distribution (4.6%). Table 5
shows the expenditure on Ministries with the 13 highest
allocations for 2023-24 and the changes in allocation as
compared to the revised estimate of 2022-23.
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Ques 5. ANS (A) Solution:

Perfect Competition is a market structure in which there
is a large number of buyers and sellers who transact
homogeneous or similar goods at a price fixed by the
market or industry. The firm has to sell the goods at a
price determined by the industry as the firm has no




control over the price. Thus, the element of Price
Discrimination doesn't exist in this form of market.
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Ques 6. ANS (C) Solution:
India's wholesale prices contracted for the second
straight month in May, led by a fall in prices across all
major categories. The Wholesale Price Index declined
3.48% year-on-year in May compared to a fall of 0.92%
in April, according to data released by the Ministry of
Commerce and Industry. Retail inflation, too, moderated
in May to hit a 25-month low of 4.25%.
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Ques 7. ANS (A) Solution:
He appointed Rajukas for the administration of justice.
Ashoka did not force Buddhist faith on the subjects on
the other made gifts to non-Buddhist also. The third
Buddhist council was organised by Ashoka and
missionaries were sent not only to South India but also
to Srilanka and other countries. Chandragupta Maurya
was succeeded by Bindhusara, whose reign was
important for links with Greeks. The was further

succeeded by Ashoka.
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Ques 8. ANS (B) Solution:

Most atmospheric ozone is concentrated in a layer in the
stratosphere, about 9 to 18 miles (15 to 30 km) above
the Earth's surface. Ozone is a molecule that contains
three oxygen atoms. At any given time, ozone molecules

are constantly formed and destroyed in the stratosphere.
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Ques 9. ANS (A) Solution:

Indian Space Research Organisation (ISRO), space
agency of India, founded in 1969 to develop an

independent space program. Its headquarters are
inBengaluru, Karnataka.
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Ques 10. ANS (A) Solution:

Sanchar Saathi portal is a citizen centric initiative of
Department of Telecommunications to empower mobile
subscribers, strengthen their security and increase
awareness about citizen centric initiatives of the
Government. Sanchar Saathi empowers citizens by
allowing them to know the mobile connections issued in
their name, get disconnected the connections not
required by them, block/trace lost mobile phones and
check genuineness of devices while buying a new/old
mobile phone. Sanchar Saathi contains various modules
like CEIR, TAFCOP etc.

TOR 1 O HIaTSd AEh! o1 TRIGd S, 3BT GR&f
B! A B 3R WRBHR B AFRS bisd Ugal & IR 7
STl F61H & o RUAR faUTT &1 T 9IRS dhigd
U8 8 | TR Wt AR &1 I A1 R 9RT fhy MY
TS HHaRM B TR T S, I o 3M1aRas Tl g1
T BRI DI B, WL gU AR BiF Bl sl
HA/TdT T 3R T1/QRAT AiEsd B TRied I9g
SUHRUN B ARATIDH T D1 Sl B Bt CEREIEIE
ST & | SaR Wit & CEIR, TAFCOP 3¢ o fafira
Hisye e B

Ques 11. ANS (D) Solution:

Ques 12. ANS (A) Solution:

Shumang Leela is a traditional form of theatre in
Manipur and the roles of female artists are all played by
male actors and male characters are played by female
artists in case of female theatre groups.
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Ques 13. ANS (B) Solution:

Bonn Convention is about the Convention on the
Conservation of Migratory Species of Wild Animals. It
aims to conserve terrestrial, marine, and avian migratory
species throughout their range. It is the only global
treaty concerning the migratory species and works under
the aegis of the United Nations Environment
Programme.

Founded: 1 November 1983;

Membership: 127 Parties

Purpose: Wildlife conservation of Migratory Species
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Ques 14. ANS (B) Solution:
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In Rajasthan, the state's first transgender birth certificate
was issued by Jaipur Greater Municipal Corporation.
Bhanwarlal Bairwa, Director of the Economic and
Statistics Department and Chief Registrar of Births and
Deaths, gave this certificate to Noor Shekhawat. Noor
Shekhawat had applied for the birth certificate in the
corporation 10 days ago.

Ques 15. ANS (D) Solution:

External Affairs Minister S Jaishankar launched the
Gujarati translation of his book, 'The India Way:
Strategies for an Uncertain World' in Gujarat.

Prior to this, he visited the Bhaskaracharya National
Institute for Space Applications and Geo-informatics
(BISAG-N) in Gandhinagar.
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Ques 16. ANS (C) Solution:

Pradhan Mantri Gram Sadak Yojana was launched in
2000 by Rural Development Ministry. It is 100% funded
by the Union Government.

It was launched to construct all-weather roads for
unconnected rural habitations.
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Ques 17. ANS (D) Solution:

The innermost layer of the earth is called the core. It is
also known as barysphere. It is separated from the
mantle by a boundary called Weichart-Gutenberg
discontinuity. The core is also divided into two parts. (i)
The outer core, which is rich in iron, is in a liquid state. It
extends between 2,900 - 5,150 km. (ii) The inner core,
composed of Nickel and Ferrous (Nife) , is solid in state.
The central core has very high temperature and pressure.
It extends from 5,150 km to 6,370 km. The average
density of the core is 13. 0 g/cm’.
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Ques 18. ANS (C) Solution:

The Union Budget has pegged India's nominal GDP at
10.5% in the financial year 2023-24. Nominal GDP
includes changes in prices due to inflation and presumes
importance in the Budget as other numbers are
calculated on this projection. According to the Fiscal
Policy statements the Nominal GGP was projected to
grow at 15.4 % year-on-year (Y-0-Y) in FY2022-23.
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Ques 19. ANS (B) Solution:

Indian full-service carrier Vistara has become the first
Indian airline to operate a commercial, wide-body
aircraft on a domestic flight using Sustainable Aviation
Fuel(SAF). Vistara's Boeing 787-9 flew from Delhi to
Mumbai using a blend of 17% SAF with 83%
conventional jet fuel. It was able to reduce approximately
10,000 pounds of CO2 emissions on this flight.
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Ques 20. ANS (C) Solution:

Defence Minister Rajnath Singh inaugurated the first-of-
its-kind Indian Air Force (IAF) Heritage Centre in
Chandigarh. The Centre has been set up under a
memorandum of understanding between the Union
Territory of Chandigarh and the IAF which was signed
last year. Spread over 17,000 square feet, this is the first
heritage centre of the IAF and depicts its role in various
wars, including in 1965, 1971 and the Kargil war, and the
Balakot air strike through murals and memorabilia.
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Ques 21. ANS (C) Solution:




The correct answer is (c) 2030 Agenda. The Gol-UNSDCF
2023-2027 is built on four strategic pillars derived from
the 2030 Agenda.
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Ques 22. ANS (B) Solution:

Shahjahan, after his succession, abolished sajda. Instead,
he introduced chahar taslim (four salutations) - the
person while standing on his feet bowed double,
touched his forehead with the palm of his hand and then
lowered his hand so that the back of it touched the
ground; this was done four times).
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Ques 23. ANS (A) Solution:

Digboi in Assam, is the first oil well in India. It is an oil
town that can be traced to the early 18th century, when
oil was first discovered here. Digboi has two unique
features: a 100-year-old extant oilfield and the world's
oldest operating oil refinery.
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Ques 24. ANS (D) Solution:

Himachal Pradesh has become the first Indian state to
develop a DNA database for unidentified bodies, which
will help in solving cases of missing persons and
unidentified bodies. This move will provide a much-
needed boost to forensic investigations in the state.
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Ques 25. ANS (C) Solution:

Purchasing power parity (PPP) is a popular metric used
by macroeconomic analysis that compares different
countries' currencies through a "basket of goods"
approach. Purchasing power parity (PPP) allows
economists to compare economic productivity and
standards of living between countries.
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Ques 26. ANS (A) Solution:

Union Minister for Finance & Corporate Affairs Nirmala
Sitharaman lead the Indian delegation to attend the 56th
Annual General Meeting of the Board of Governors of
Asian Development Bank (ADB) along with Investor/
Bilateral and other associated meetings, in Incheon, the
Republic of Korea from May 2-5. ADB Annual Meeting
theme: Rebounding Asia: Recover, Reconnect and
Reform. The Asian Development Bank (ADB) has
announced Tbilisi, Georgia, as the host of its 57th Annual
Meeting to be held from 2 to 5 May 2024.

Frg fod Td HraRe Aral &1 w3t HHar darau siRkar
TURTSY & S & TRATS fasr § (Tl & sis

ST TG4 &1 5641 AP SHTH 96 & TTY-TIY
fra=re/fguaia ok o Hefdd do®! & WrT o & for
YR UfAARHSd &1 Ad@ B 6! | 2-5 Hs. TStal
e S &1 faw: Jarsfen thRmn Rew, fe-de ik
fepie | TRETS f9e™ o& (@ldh) 7 2 ¥ 5 18 2024 TF
B aTett oot 5741 A1fer 3% & Aoad & FU H
fefereh, Sitfotar &1 aifiyd fasan 81

Ques 27. ANS (A) Solution:

Bhimbetka rock shelters, series of natural rock shelters in
the foothills of the Vindhya Range, central India. They are
situated some 28 miles (45 km) south of Bhopal, in west-
central Madhya Pradesh state.
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Ques 28. ANS (B) Solution:

Few borrowed sources of the Constitution of India are
given below:

The Government of India Act, 1935: Basic Structure
(Federal scheme, Office of Governor, Judiciary, Public
Service Commission, Emergency Provisions,
Administrative details).

British Constitution: the idea of single citizenship, Rule of
Law, Lawmaking procedure, Writs.

United States Constitution: Preamble, Fundamental
Rights, Federal structure of government, Electoral
college, Separation of powers, Judicial Review,
Independence of Judiciary, Impeachment of the
President and Removal of Judges.

Irish Constitution: Directive Principles of State Policy
(Ireland itself borrowed it from Spain).

Constitution of Soviet Union (USSR): Fundamental
Duties.
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Ques 29. ANS (D) Solution:

AUKUS is a trilateral security pact between Australia, the
United Kingdom, and the United States.

Under the AUKUS alliance, Australia plans to acquire at
least eight nuclear-powered submarines.

The alliance has largely been seen as a response by the
three countries to the increasingly aggressive and
assertive behaviour of China across the Indo-Pacific.

India successfully scuttled China's attempt to pass an
anti-AUKUS (Australia, UK and the US) resolution at IAEA
meet.

AUKUS Sifeeferan, garses fdmen oik Sgad s Safkat
& o9 U e gRem a9 o
AUKUS TS & dgd, 3Re el &8 9 &Y 3116 IRAT]-

Tenferd g et g1RId B &1 TieHT a1 @I ]|
S T3S BT HIC IR W A1 o1l gRT Ea-u=ria & o
I & Td ATHHS 3R T@R TIgR B! Ufafehar & =4
# e TR
YRd 7 IAEA S8 B AUKUS (3ffeeferm, g 3R gua)
1<t TeciTa TR %A & I & TN &1 I AdTgad
[EEERIERI
Ques 30. ANS (C) Solution:

India's defence ministry approved the acquisition of 31
MQ-9B armed drones from the US. The clearance for
procuring the drones made by General Atomics was
given by a meeting of the Defence Acquisition Council
(DAC) chaired by defence minister Rajnath Singh.

India is expected to buy the drones, which have an
endurance of more than 27 hours and can operate at up
to 50,000 feet, in a deal worth a little more than $3
billion.'
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Ques 31. ANS (A) Solution:

Ramit Tandon is a professional squash player who
represents India. He is ranked number 35 in the world
and India #2. He turned pro in 2018 and has won 4 PSA
tour titles since then. HeOs an Asian Games Bronze
Medalist.
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Ques 32. ANS (B) Solution:

The Global Slavery Index (GSI) provides national
estimates of modern slavery for 160 countries. It is
presented by Walk Free, a human rights organisation,
and is based on data provided by the Global Estimates of
Modern Slavery, which, in turn, is produced by the
International Labour Organisation (ILO), Walk Free, and
the International Organisation for Migration (IOM).

This is the fifth edition of the GSI and it is based on the
2022 estimates. The previous four editions were
published in 2013, 2014, 2016, and 2018.

In its report, Walk Free reported that 49.6 million people
are living in modern slavery, out of which, India is home
to 11 million.

According to the index, ‘'modern slavery' refers to
situations of exploitation that a person cannot refuse
because of threats, violence, coercion, deception, or
abuses of power. Modern slavery includes abuses such
as forced labour, forced marriage, debt bondage, sexual
exploitation, human trafficking, slavery-like practices,
forced or servile marriage, and the sale and exploitation
of children.

Three sets of findings

There are three sets of key findings. The first set consists
of countries that top in terms of the prevalence of
modern slavery. The prevalence refers to the incidence of
modern slavery per 1,000 population. On this count, the
following 10 countries are the worst offenders: North
Korea, Eritrea, Mauritania, Saudi Arabia, Turkey,
Tajikistan, the UAE, Russia, Afghanistan, and Kuwait.

The index states that 'These countries share some
political, social, and economic characteristics, including
limited protections for civil liberties and human rights."
The second set consists of countries with the lowest
prevalence. The list includes countries such as
Switzerland, Norway, Germany, Netherlands, Sweden,
Denmark, Belgium, Ireland, Japan, and Finland.

The third set consists of countries hosting the maximum
number of people living in modern slavery. The list is as
follows: India, China, North Korea, Pakistan, Russia,
Indonesia, Nigeria, Turkey, Bangladesh, and the US.

The index states that 'Collectively, these countries
account for nearly two in every three people living in
modern slavery and over half the world's population.
Notably, six are G20 nations: India, China, Russia,
Indonesia, Turkey, and the US."

dffyeh arHdl Yerchich (STTHSATS) 160 ARiT o forg 3Myfie
ST T MG SHTAM UGH H1 5| S dTeb W, Th
AHATISHR W3 gRT U {301 T 8, 3R I8 SMyfids
SRIAT & A STAM GRT IS HRIT 7MY 3fh sl TR
3R 8, S daat ¥, 3icRITRT o i (3nguasi), afe
1 3R RIS 16 §RT (AR fobat 11 & | Yars
(SHTSSHTH) |




g SITHSMS o Uidal Il § SR I8 2022 & SAM
TR TR 81 fI3a IR TR 2013, 2014, 2016 3R
2018 T UehTIR1d gU U1
ares Wi A 3ot RuTe & gamn fas 49.6 fferas @t smyfe
et & Sft 39 €, foFH ¥ 11 ffers s e URA |
YIDIP P TR, MY rar =T i 37 fufazi
¢IRY T Yo b GSUANT & HRU SRAIBR o] DR bl
21 3NYFID T § STeRA ¥, e faaTg, B §u, I
MY, AT TR, AT SiRft 9UTE, e a1 g faarg
IR =i ) f9ep) 3R w0 S geHiagR Wi g
el & fF Je
T el & i Ie 31 Ug g H I o1 =MHA § ol
Y TETH Bt AIHaT &b AT H i TR § | AT
Ufet 1,000 SRS WR 3M1YfFe Tt &t geT1 B g2 g1
g A, FEfafad 10 <9 999 WR1E ST §: IR
Y 3R SR, T, B 3R Had|

o 8] T & & 3 < B WA, Ao
g 3fdfer faRoarsit &) e #vd % o AT
Tzl 3R HFaeRY & forg Wit gran i g1
gm@?ﬁ«wﬂwmaﬁ%ﬂmﬁﬂ%lﬁiﬁﬁ
fRaesRds, A1d, S, Herds, wWed, ST, sfcorad,
SRS, STAA 3R fpTeis o 321 et |
AR g H sieyfes AT § X6 ard Al Bt ifidan
TR BT AT B AT 2 M &1 Gl 39 YR
g, g, SiemeRr SR smfeT |
adidh B &gl T § fh amfed U 9, 39 o= o
Yo T B g aTdl 8 o< B F I &) AT §d §
3R g &t omelt F 3ifies Serd) e 81 Ry w U 9,
TG G20 Y & YR, I, T, SSHRMA, ga! 3R
i

Ques 33. ANS (A) Solution:

'75/25" initiative for people with hypertension, diabetes:
The Union Health Ministry has launched a bold initiative
to screen and provide standard care to 75 million
individuals suffering from hypertension and diabetes by
2025. This significant announcement was made during
the G20 co-branded event called "Accelerating the
Prevention and Management of Hypertension and
Diabetes," which was organized by the Union Health
Ministry and the World Health Organization (WHO).

I I, AYHE 4 GIfSd ATl o fore '75/25' ggar:
Feila TRy HATET F 2025 db I AT AR AYHE A
ifga 75 ffera afaaal o 9w w1 3R 3% AFe
THT U™ $HRA & [T T T8RP Ugd Y& &1 ¢ | T8
Tgayuf 9I9or Sit20 TE-sies HRIHH "3 Iada 3R
TYAE B ABYUM 3R Jag H o dM" P SR BT TS
o1, et ST el W HAed 3R fay e
TS (WHO) gRT febam T

Ques 34. ANS (A) Solution:

The first State to be formed on linguistic basis in the
country is Andhra State. Andhra State was born on

November 1, 1953 with Kurnool as its capital after it was
carved out from Madras Presidency.

SR HIWTS SMTYR TR &= aTel Uga o8 Y I 5|
3{f8Y 1Y BT SH 1 AdeR, 1953 PI Hery YS! I 3ferT
B & J1G SHD! AU HIA & TIY g7 T

Ques 35. ANS (A) Solution:

World Blood Donar Day is observed every year on June
14. This day aim to raise awareness around the need for
safe blood and blood products and to thank the blood
donors for taking efforts to donate blood and save lives.
The theme for this year's World Blood Donor Day is 'Give
blood, give plasma, share life' The important day was
first recognised in 2004 by four international
organizations including World Health Organization
(WHO), the International Federation of Red Cross and
Red Crescent Societies, the International Federation of
Blood Donor Organizations (IFBDO) and the
International Society of Blood Transfusion (ISBT).

fasy YFaara fGaw &R I 14 S &I AT o1 81 39 fod
BT I JRI&T o 3R I IdTG| B AIIH T &b TR
A SR dT SgMT 3R ¥ad & B3 3R Siad 991 &
VT 3 T YaGITSh Y 4=aTE o 81 39 a9 & fay
IFIGTT [Gad &1 fawd § *ad &, W &, Sita J1em
IR 39 Hg@yul fad & ugell IR 2004 H fay w@rea
T3 (S&YUASN), STARAA WA T I8 BT 3R
HRERIE sce-w-m TSR I &S SR SN HZOIRMA
(ETHEIEIR) AR S T 3 e
RIS (STSugaieh |

Ques 36. ANS (A) Solution:

Under Article 324 of the Constitution of India, the
authority to conduct elections to the Office of President
is vested in the Election Commission of India.

YRA & AfAYT & 3G 324 & ded, IPUNI UG o forg
A A BT HRAGR YR & g9 AT & fAfga g1
Ques 37. ANS (A) Solution:

INS Vikrant, India's first home-built aircraft carrier, was
formally commissioned after completing almost a year of
sea trials in Cochin Shipyard Limited.

The 45,000-tonne warship has been built at a cost of '
20,000 crore. PM Modi also unveiled the new Naval
Ensign.

262 metres long and 62 metres wide, INS Vikrant is the
largest warship to be built in India.

It can have 30 aircraft on board, including MiG-29K
fighter jets and helicopters. The warship can
accommodate a crew of nearly 1,600.

INS Vikrant, in the beginning, will have MiG fighters and
some choppers. The Navy is in the process of procuring
26 deck-based aircraft, having narrowed down to some
Boeing and Dassault aircraft.

At present, India has only one aircraft carrier, INS
Vikramaditya, which is built on a Russian platform.
Defence forces have been seeking three carriers in all -




one in spare besides one each for the two main naval
fronts, in the Indian Ocean and Bay of Bengal.

India's existing fleet includes one aircraft carrier, 10
destroyers, 12 frigates and 20 corvettes.

URA & Ugd TR fAHHaTg® Ui HTSu-uY faehid ol
DI Roare fafes & @ U I1e &7 T usterr
R HA & 918 NG T Y HHA fHar |
45,000 T g1 39 GUId &1 20,000 HRIS ! ANTT Y
%@w% ey Wi A 775 AT g B ot SHTeRu
262 Hex a1 31R 62 Hiex et 3Msued fashid YRa &
1 T 981 ggUId g |

O fiT-29K A1 Se 3R gelld PR Tfgd 30 fauH Jar
B Uhd ¢ | I8 TGUId TIHT 1,600 AT & Gl Bl
FHTNIT PR bl 5|

AT T AMETACY faswid # i de1e fau ok o
BIBTR BT | TRT 26 S-SR A WRieH P
ufeear # 8, ST oo 9157 3R SuTee famm! ae Wftd =
e T gl

I H, YRd & UTY $ad T [dH-dTeS Uid SIS0y
faspiee 8, S =& WekiH W &1 71 & 9 oo
Qe <1< TG 1 qel=l R 33 & - fog HENIR SR
S 1 WTSt H & T e Ardf & foIe U & 3faran
T 3ifdRed a8 |

HRA & HAiolel 9 H T fammares uid, 10 faedas, 12
fihiie 3R 20 Hde A &

Ques 38. ANS (B) Solution:

Shegel, also spelled shekel, the monetary unit of Israel.
The sheqel (plural: sheqgalim) is divided into 100 agorot.
Israel's current monetary system, based on the New
Israeli Shegel (NIS), was established in 1985, when the
old sheqgel was replaced at a rate of 1,000 old sheqgalim
to 1 new sheqel (NIS 1).

Qb P! ITRISA P! Hilsd P13 YUoba H T Sl 3|
Qb d (Fgad: ABITeH) DI 100 TWIRIC & fquiford foa
T 8| SYRTSA B IJH IS Tomell, T SoRIga Abd
(EA3MTEEH) TR SATUTRE, 1985 H R Bt 18 2, oI R
b d DI 1,000 TR AHTOH F 1 74 Wb (TSI 1)
1 G ged faar mar |

Ques 39. ANS (A) Solution:

India is celebrated its 74th Republic Day in 2023.
President Droupadi Murmu lead the nation in
celebrating Republic Day from Kartavya Path, formerly
known as Rajpath, in New Delhi. Egyptian President
Abdel Fattah EI-Sisi was the Chief Guest at the Republic
Day Parade.

YRd 2023 T SATHT 7431 TUIH f&aw A1 381 8| Ipufa
Zuct g 7 718 faeeh H ood Uy, 1Y ugd 319y & AW
ST ST T, § TN feas A9 & <=1 &1 g foha |
T fad iRe | e & Ayufcl sfecd g oral-Rt
T Y |

Ques 40. ANS (B) Solution:

Recently the Reserve Bank of India announced its last bi-
monthly monetary policy review for the financial year

2022-23. Following this review, the repo rate has been
raised to 6. 5%, an increase of 25 basis points over the
previous rate.

The repo rate is used by the Reserve Bank of India for

short-term loans to commercial banks.

The bank rate is used by the Reserve Bank of India for

long-term loans to commercial banks.

Reverse repo rate is the rate that is given by the RBI to
the banks that deposit money with it.

BT 8 H YR Roid §& 3 faxiia av 2022-23 & fow
St sifew fgmies Mge Hifa gien @) givon ot 59
THte & STe, Y01 &R B IGIHR 6.5% DR U1 T g, S
el G F 25 SMTUR 3fw! &1 gf B

YUY &R BT I YR Reord § gRT s st o
SgepIfeiss FHUT & ford fpar a8

d& TR BT ITANT HRR Rofd d gRT a1foifoss St &t
Srdopifere U1 3 & forw fopam Sirar g

f¥aef 30t Y@ a8 R © S 3RESE 37 S Bl T g S
I9% UTY U TH B g

Ques 41. ANS (B) Solution:

Kaiga Nuclear power station is located in

Nuclear Power Station | Location
Kudankulam Tamil Nadu
Rawatbhata Rajasthan
Kakrapar Gujarat
Marora Uttar Pradesh

Ques 42. ANS (B) Solution:

Eisenhower Cup is associated with the game of Golf.
Colombo Cup : Football

Ashes : Cricket

Davis Cup : Lawn Tennis

SMEHEIAR B Meth Wdl ¥ F&fid gl

Fiddl U Hedid

TRI: fobobe

SENERACIEICER]

Ques 43. ANS (D) Solution:

Currently, six states - Bihar, Uttar Pradesh, Maharashtra,
Andhra Pradesh, Telangana and Karnataka - have a
Legislative Council.

The Legislative Council of a state is constituted as per
Article 168 of Indian Constitution. As per Article 171 of
the Indian Constitution the total number of Members in
the Legislative council of a State shall not exceed one
third of the total number of Members in the Legislative
Assembly.

Of the total number of Members of the Legislative
Council, 1/3 of Members are elected by electorates
consisting of the Members of Local Authorities, 1/12 are
elected by electorates consisting of graduates residing in
the State, 1/12 are elected by electorates consisting of
persons engaged in teaching, 1/3 are elected by the




Members of Legislative Assembly and the remaining are
nominated by the Governor.

AT 3R Fefes - | faur ufveg g1

Tl Irsg 1 fae™ uRee B1 T34 YR Higu™ &
TS 168 & IR T ST 8 | YRdIg Tfdu &
3RS 171 & IR fordt Isu w1 fam ufvee # gewt
B! Hol WA AU GUT H GG &Il &1 $o G & T fasTs
3 3ifYe T8 gl

Ay uRug & Jewil & Ho G- | U 1/3 9™ RIHY
RISTRET & Fewdl arel Fatae Heell gR1 g 91 3,
1/12 Y& Iy H 3G a1l 1] aTel Haferes He el gR1
T §, 1/12 Yo fafass Hedl gR1 9= oird § e
o o fdaal ¥ fiday, 1/3 fau 941 & gl gRI A
A § ST RN reuuTe gRT A1 8 3

Ques 44. ANS (B) Solution:

The Rocky Mountains, often called the Rockies, are a
broad mountain range in western North America. The
Rocky Mountains stretch more than 3,000 miles (4,800
kilometers) from British Columbia, in Canada, to New
Mexico, in the United States.

/1Y g, R 1 it +ft gt ot @, afyet I
AR H U favga udd oRaan g1 bt gdd HreT |
fafewr Sidfear I awR Wgad I et § g ARyt
d 3,000 Hd (4,800 faraiiex) affﬂwwﬁmgaﬂ%l
Ques 45. ANS (D) Solution:

India's first commercial space situational awareness
observatory, to track objects as small as 10 cm in size
orbiting the earth, will be set up in the Garhwal region of
Uttarakhand by Digantara, a space sector start-up.The
space situational awareness observatory will help India
track any activity in space including that of space debris
and military satellites hovering India.

Ul B UReHHT A aTcl! 10 YT SMDHR P BICT a3l i
2% B aTe YRd B Ugal A siafe fRufasa
SRSl JURITEl, icRal & o TI-317 faTieRT gRI
SIRIES & TTgard & § RTUd & Saeft | sfafeer
RIS SRS ehl AURITEl ¥ HIRd 1 Hag el Siar
# Tt oft Tfafaf TR o T, forad siafver &1 #aeT ¢k
YRA # HSW 5 99 3uvg Hff =a &

Ques 46. ANS (D) Solution:

Maharashtra was the first state to establish the
institution of lokayukta in 1971.

The lokayukta is appointed by the Governor of the state.
TERIY 1971 T AebTgdd TRIT DT RITUHT H= a1 Ugell
ST YT |

BRI B! gfad o8 & I9Td GRT BT A ¢ |

Ques 47. ANS (B) Solution:

Jnanpith Award is the highest literary award in India,
given annually for the best creative literary writing to
writers in any of the 22 "scheduled languages”
recognized in the Indian Constitution.

The prize carries a cash award, a citation, and a bronze
replica of Saraswati, the goddess of learning. It is

sponsored by the cultural organization Bharatiya
Jnanpith.
UG RIBHR YR &1 Fared Alfefdd RIGR &, o
YR AfqU™ T A1=0a1 e 22 " Sqfod yTmei” 3 4
foreht 7 1ft T B TAIY TS e fAS oRa F forg
yfcra fam Sirer 5
RIGR B AhH¢ TR, T TR U3 3R faen o <t
T B T B U o S &1 I8 TRl
TG YR FHUS §RT YR &
Ques 48. ANS (A) Solution:
Panama Canal is a lock-type canal that is owned and
administered by the Republic of Panama, which connects
the Atlantic and Pacific oceans through the narrow
Isthmus of Panama. The canal permits shippers of
commercial goods, ranging from automobiles to grain,
to save time and money by transporting cargo more
quickly between the Atlantic and Pacific Oceans.
TTHT 18R U Tlioh-TPR B1 TeR & foraept Wi 3R
T&E UTHT TORTSY & U €, S UATHT & T 10f Saqy &
Y § fedifed 3R YT AEETRI &l Shsdl g1 e
Sfedifed SR URITd HEITRI & i e ot I Ard
ORag PR THY SR U1 s & o sffdiiesa 9
gm 3{ATST e OIS JTHH Wl aTal & SFAfd et

I

Ques 49. ANS (D) Solution:

International Day Dates

1. Global Forgiveness Day and World Chocolate Day 7t July
2. \World Youth Skill Day 15t July
3. International Justice Day 17t July
4. International Tiger Day 291 July
5. World Population Day 111 July

Ques 50. ANS (D) Solution:

Zaid/Summer Season Crops

The main crops include traditional summer crops like
rice, corn, cucumber, melon, pepper, tomato and some
coarse cereals sown during the month of March and are
generally harvested by June end.

WG/ g B Hhad

T B § URURS UTSHBT B oY 919, Fab],
ao—cb—s‘r , BTcll i, THIER 3R $© HIC STl XfHd
%Gﬁﬂﬁ%ﬂ%ﬁﬁﬁﬁhﬁaﬁ%aﬁvwaﬁiwwa?&m
q% HIc 9Id &
Ques 51. ANS (C) Solution:
(16, 63, 65) THHIU FAYS &1 3 g
IH UBR I,
(13, 84, 85) THHI Y &1 A 17 B
(16, 63, 65) is the triplet of right angle triangle.
In the same way,
(13, 84, 85) is also the triplet of right angle triangle.
Ques 52. ANS (A) Solution:




t—r—to—n——rnt—-—n
0 n r r

Ques 53. ANS (A) Solution:

Ques 54. ANS (B) Solution:

7, 9, 21, 67, [273] 137
\_.ﬁux_,ﬁ\l/f
wl+d w243 w344 w445 x5eb

Ques 55. ANS (D) Solution:

IN T E L L I GEN T AEIOU
T A A A A Lt
3414420 +2 +12+12 +3 +7 +2 +14 420 12345
5 o R R ¥

19 +4 +18 +18 +25=84

Ques 56. ANS (A) Solution:

HRIPT TAYUTd BHlcd | R § 3R fbRA srayard

AUy ¥ T 81

Kunchikal falls is located in Karnataka and Kynrem falls is

located in Meghalaya.
Ques 57. ANS (D) Solution:
1st

2|\(l

1=

M=l L 8

&, (1 37F), o4 (5 37F) & AT worew 3 g
Ques 58. ANS (D) Solution:

c—n:nn-1)

famed (a) 12:12 x 11 = 132 (Tah)
fawed (b) 15: 15 x 14 = 210 (&)
fa®e () 16: 16 x 15 = 240 (@)
famed (d) 18: 18 x 17 = 306 # 296 (Tdd)
Logic: —»n:n(n-1)
Option (@) 12:12 x 11 = 132 (True)
Option (b) 15: 15 x 14 = 210 (True)
Option (c) 16 : 16 x 15 = 240 (True)
Option (d) 18: 18 x 17 = 306 # 296 (False)
Ques 59. ANS (A) Solution:
Ques 60. ANS (D) Solution:
Ques 61. ANS (C) Solution:
Ques 62. [ANS (B) Solution:

I
K

C
ABI, BIH, B, BIE, DEK, EGK, EFG, BCE, GIK, IH], DEG, GIE, BIE, AIE, DGF
Ans — 15 triangles

Ques 63. ANS (B) Solution:
GIRI T=AT = Ygail H-HT Dl IR
TR T = GURI TS o 3fah! BT AT

Second number = Square of first number

Third number = Sum of the digits of second number

Ques 64. ANS (A) Solution:

T : (T AT x3)
E

B A U T I F 1] L
1‘ ls ll ‘k1 izu lu lfa lz 1 LI 2
6 3 63 60 27 18 63 36
w

CS)

15
A T E R

123 11 lzo ls 118

69 3 60 15 54

Ques 65. ANS (D) Solution:
e 'd' &) Sred gt Tsit & v 81

Except option 'd’ are all the cubes of numbers.

Ques 66. ANS (D) Solution:
EiEsS

OJC

haer farsed | 31T 111 3TEReT FA B 1

Ques 67. ANS (C) Solution:

TETHALT—
Percentage, Perfect, Perfectly, Perform, Performance.
(3) (5) (1) (2) (4)

Ques 68. ANS (A) Solution:
9:9% + 92 =729 + 81 = 810
5:53+52 = 125 + 25= 150

Ques 69. ANS (B) Solution:

®a1€rmﬁf'r

et

dTd

Ques 70. ANS (C) Solution:

x2 +3 wid +5 %«

Ques 71. ANS (C) Solution:

HAe . Hue
ﬁa'&ug?:r<4 : 8 = 4x,
6TT AT S5k Txz=p 2x2

12 99 — 6 SIS
1 a9 — 0.5 SHS

6 a uger gAeT o g = 2@

6 T TEOT T Fh AR = 4 TG

st AR T B ATA WG FA 8 AT 0T
ST G H AT =8+10=18TF

Ques 72. ANS (C) Solution:
Ques 73. ANS (A) Solution:
10+2+3%-8x4
ﬁwm(a) +, X
=10+2x3%2-8+4
=10+2x%x9-2

=10+ 18-2=28-2 =26




10+2+3%2-8x4
By Option (a) +, x
=10+2x32-8+4
=10+2x%x9-2
=10+ 18-2=28-2=26
Ques 74. ANS (A) Solution:
1 - 6 =
1 = 3 - |2
Ques 75. ANS (B) Solution:
PLAY— 135 2
LEFT—>@7 46

L—*3

LEFT—s 3\ 6
SEAM—s 8/ #

E—>7

LEFT—>374@
TUCK—@@ PR

T—>6

Ques 76. ANS (B) Solution:
ATt SNTeTT fo Hel AT P &1
TS FAT=P+ PHT20% =P +0.2P = 1.2P
AT ST o THI TTed I FAT @ oh [61¢ IaTH
TS = TS B x (1) x AT 975 Saprlt by T
TR G 30T GA14 W Tge & AT IoATd ST ToATT Tl =
{oed & aXTeR a1l Thd &
T B x (1-75) x I 1S Shrsell bt e = el hravel >

x —
1.2Px (1) =P

1.2-0.012x=1
1.2-0.012x=1
0.012x=10.2
x=16.67

37, forit 3T o hraTa 3 20% &1 5T got IR 3T T
16.67% T FHHT &7 AATAT TNRTI

AT 20% & HTATE 5 : 6 § ol HAT T dallel & fere
1/6=16.67%

Ques 77. ANS (A) Solution:
ggell 9 = 30%
el ge = 20%
YEEBE =30 +20-
=50-6=44%
Taehd 7o = 3ifehcd Hed &7 (100 - 44)%
farshar 774 = 56% x 6000
Ao Hed = 56 x 60

20x 20
100

= 3360 TTI
Ques 78. ANS (A) Solution:
oo (4,84 HTHAT
HTHIH. = (7.9,3 /T HAT,

_ &
63

Ques 79. ANS (B) Solution:

gH STed B T,

ab
[a + b_ﬁ 0h

17%12 _
[1?+12—W]% = 26.96%

Ques 80. ANS (C) Solution:
T2t & 3T,

15—-x=x
x=§=?.5$ﬂff

Ques 81. ANS (B) Solution:

o1 o 5 foraft oo & RefienRur & fore oiFd €, 89
BODMAS & UTeH HRd &-

B — BRACKETS

O-OF

D - DIVISION

M — MULTIPLICATION

A — ADDITION

S — SUBTRACTION
3d,52+13+2(15+5x2)-4+2
52+13+2(3x2)—4+2
52+13+26)-4+2
4+12-4+2

18-4=14

As we know for any simplification of an expression we
follow BODMAS

B — BRACKETS

O-OF

D - DIVISION

M — MULTIPLICATION

A — ADDITION

S — SUBTRACTION

S0,52 +13+2(15+5x%x2)-4+2
52+13+2(3x2)-4+2

5213 +2(6)—4+2
4+12-4+2

18-4=14

Ques 82. ANS (B) Solution:

FH BT AR 1 HOTBT=9x1=9
10099 =90 X 2 = 180
100 to 210 = 111 X 3 = 333

BT el 3Heh AGT =9 + 180 + 333 =522

We need total digits 1t09=9x 1=9
10t0 99 =90 x 2 = 180

100to0 210 = 111 x 3 = 333

Total digits we need = 9 + 180 + 333 = 522
Ques 83. ANS (C) Solution:




HIFT H AB = 10 37T 37 €D = 24 T ST FAETG STAT £ 1 0 F% 6 0B HIT oD FA AT
e
TormaT - ot 5ot & & SftaT o o Wi & & ag Sar a2 et st 3 Renfeta e dar

&

an EHBE =5 At g ¥

OF = 12 397

3= OED # £ = 90°

3, (0F) =/(0B)* — (BE)? = /(13)7 — (5)% = V169 — 25 =144 =12 &1
S PersT OFD 3

{OF) =/ (0D)* = (FD)* =/(13)% = (12)% = V169 — 144 =25 = 5%
HA EF=ED+0F=12+5=17 85T

Ques 84. ANS (A) Solution:
a3 wsft 4 et o 31 a7 2T = e 3T« IRER & wew H aE
=30x4=120
TR FH 3H & TCET 6 I = 15T
RaR & 9 3 Tew T Y FT A = 12015 = 105 TF
sfwa =S =ssaf

Ques 85. ANS (B) Solution:
A™ 4 B™, (A +B) T fas=a § 519 n AwE §1
(2979 +29) = (29 +1+29—-1)
=(29%" +1°%) + 28
(292° + 12%), (29 + 1) T @sT=T g =30
37 (29%° + 29), 30 W 19T &4 R ST9hel 28 WTCd BT 1

Ques 86. ANS (C) Solution:
1EH AT § T,
HATRRUT =0T = HHT < T

SI, = 2 x 13% = 26%
SI, = 6 X 13% = 78%

100% 22,500°%.
qfr=22,500%.

Ques 87. ANS (B) Solution:

) +52% ——— 11,700 %,

AT +ddd = AT

300 + 100 = 400
+20% + 10%

+60 — x = +40
60—x =40
x=20

safory, aod ¥ widera aRade = 2222 x 100 = 20%

100

Ques 88. ANS (C) Solution:

UY & 39R,

U ™ § Ugd g &1 7T = O am & 916 gY &
HHET

80x70%=(80+x)56%

x=100-80=20 IR

According to question,

Quantity of milk before mixing water= Quantity of milk
after mixing water

80x70%=(80+x)56%

x=100-80=20 litres

Ques 89. ANS (A) Solution:

2T & HeTAR -

LCM = 6 X HCF 3T
LCM + HCF = 84
B6HCF + HCF = 84
7HCF = 84

Hor=2

HCF = 12, 31d
LCM = 6 X HCF
LCM =6 X 12
LCM =72

ST o gH THE T AEd & -

LCM % HCF = N1 X Nz (N1 31X N2 &Y 913 ey Sieeme §1)

72 X 12 =36 X Nz

72x12
MNo=—
EL)

N2 =24

Ques 90. ANS (B) Solution:

T $d dic =100%

A -40%

B - 50%

grett ale - 10%

ST 7Y 10% Hd 3T Y Wi ST 7Y 7l BT A 3R B I
1:1 ' 3gard 1

& A IY A -

A-35%

B-45%

B A 1000 dic 31t e § ot foh 10 wfa=ra §
gfg 10% = 1000

dl, 100% = 10000

Let total votes =100%

A -40%

B - 50%

Empty votes — 10%

10% casted votes were invalid but in 1:1 ratio of the
casted votes to A and B.

So total valid votes —

A-35%

B-45%

B gets 1000 votes more than A that is 10 percent
if 10% = 1000

So, 100% = 10000

Ques 91. ANS (C) Solution:

Ques 92. ANS (D) Solution:

Ques 93. ANS (C) Solution:

Ques 94. ANS (A) Solution:

Ques 95. ANS (D) Solution:

Ques 96. ANS (C) Solution:

Ques 97. ANS (A) Solution:

Ques 98. ANS (B) Solution:

Ques 99. ANS (A) Solution:

Ques 100. ANS (D) Solution:




